Chain Drive Crank Kit - Arm System

\APPLY ANTI-SEIZE
TO HUB THREADS
BEFORE SCREWING
ONTO CRANK SHAFT

APPLY THREAD LOCK
TO BOLT THREADS

PO BOX 713 = 2309 SHUR-LOK STREET
YANKTON, SOUTH DAKOTA 57078-0713
PH. 1-800-474-8756 = FAX 605-665-0501

ltem Part #

PIN 1115069 Rev. B

Description

©O©ooNoTTRWNE

1114064
1702887
1112925
1702892
1702886
1703185
1702884
1114780
1700431
1701434
1702881
1702883
1702867
1702882
1702080
1112866
1702889
1702880
1702653
1112923
1700400

. 1108924
. 1700418

1700429

Replacement Chain Drive Crank Kit
Handle Retainer Hardware
Crank Handle

Machine Screw - #10 x 1 3/4”
Brake Cover

Brake Pad

Ratchet Sprocket

Crank Shaft

Flat Washer - 5/8”

Cap Screw - 3/8"x 1 1/2"

Pawl| Washer - 3/8”

Pawl - 1/2"

Torsion Spring - 1" x .17”

Pawl Spacer - 3/4" x 3/8"
Carriage Bolt - 3/8" x 4"
Sprocket - 23 Tooth - 5/8” Bore
Retaining Ring - 5/8”

Flange Bearing - 5/8" x 1 3/8"
Machine Screw Nut w/Washer - #10
Crank Housin

Self-Tapping Screw - 3/8” x 1"
Manual Crank Mounting Bracket
Centerlock Nut - 3/8”

Flat Washer - 3/8”

SHUR-CO.® HELP LINE
CALL: 1-866-748-7435
www.shurco.com



